CMS

)ref

2

f
I
~

o
[N

) I xg(x, 1

2
f

S
N

Oxg(X, 1
o
L L LRI |

Xg(x) uf = 30000 GeV2 NLO
[_] HERA + CMS W* 8 TeV
NN [DT(t), y(t)] 8 TeV
2 + [y, M(th] 8 Tev
] + [y(th), M(tD)] 8 Tev

'
w

102

CMS

) ref

2
f
o
~

o
N

dxu, (X, ufz) I'xu (x, |

Xu,,(x) uf = 30000 GeV? NLO
[ ] HERA + CMS W* 8 TeV
o + [, 0, y(D1 8 Tev
O + y@), M(tD)] 8 TeV
[ + [y(tD), M(tD] 8 TeV

10t 1

102

10 1

CMS

© RS T TTT T
&~ [ XZ(x) u?=30000 GeV? NLO q
=3 041 f ~
& - [ HERA+CMS W*8TeV q
i L RO y(E)] 8 TeV 1
< 02k A+ ) M) 8 Tev <l
- R [y(td), M(ti)] 8 Tev i
% OF 3
Ze]
-0.21- =
0.4k |
107 1072 10* 1
X
CMS
»U_J T T T 1T IIII T T TT IIIII T T T T TT[fT
&\:0 4 - xd,,(x) pfz = 30000 GeV? NLO q
3 V.ar =
7 - [ J HERA + CMS W* 8 TeV 1
;3 - ] * [P (0, y(O] 8 Tev ]
X o2k U777 + [y(), M(tD)] 8 Tev |
o [0 + [y(th), M(tD)] 8 Tev E
3 i
5 A
= O °
x
Ze] a
-0.2 3
-0.4
vl ool Lol
10° 1072 107
X



